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(i) 	 A rhombus is a simple quadilateral whose sides are equal.
(ii)	 The angles in a quadrilateral add up to 360o. If each angle is equal, each angle will be 90o  
	 and hence a square is the shape formed.
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Question 9 (75 marks)
Question 9 (a)

(i)	 Perimeter P = 2a + 2b
Question 9 (b)

(ii)	
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Question 9 (d)

Draw a line segment [AC] of length 10 cm.
Using a compass draw an arc of radius 10 cm with C as centre.
Using a set square place a rule perpendicular to AC and move the ruler into position such that it  
measures a chord of distance of 10 cm. Draw a line along the ruler in this position.
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Draw the kite ABCD.
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Consider the right-angled triangle BEC:
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Consider the right-angled triangle BEA:
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